< & ¢@>(rad)

C——

107 1

o

1

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt

0.5

EE 5 5
= 8O (Frireeees RARRRERLEE: (EREREERERE

A F +
§ BOE i S R
© QOR e {f i O L ARARRRERLEE

\ o H H
20 i A B e
o +anwm : , -----------
B To) SHU § FOU S PRUPUY A S
—4Of- - 1o SRRREEEE: AR
~60F- -+ {1+ TR SRS [LETTRIRS
GO | | R
10 :__ 1 L1 1 rul 1 L1 |i_"|"|"|_|_|_|:|

[N

o
I8

[N

< op/p > (%)

......................................

= [ERRAERREE [RAEE b
: I
-2 .
=3 [ERRAERREE " """" LR
_4 ------------------- E ---------------------
o T ! £ 3 "' I !
I ++|F AL
o 1.9 :
1 E“ 0000000 0
09 ,I: ............

0.8 S : i
-1 2 3
10 1 8%, (Pca tbeamiindf

< 8d,> (um)

Ratio

[y
o

o]
T

D
T

N
(@]

20

|
N
T

1.5

=

T T
S ..
BT

107

1

2 3
TPl;g)T (PCA t%obeamlin%



	Contents
	Page 1


